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MATLAB 3 B magic(N) iz &4cT™

MAGIC(N) is an N-by-N matrix constructed from the integers 1 through
N”2 with equal row, column, and diagonal sums. Produces valid magic

squares for N =1,3.4,5,...

Bops= v & N &%

CRESE L A
< ¥ i N/2 L

T T P
e Y YAl E

# g L

+ mod(N, 2)==1 = = pF »

A B C
D E F
G H I

TS PR

A+B+C=15, D+E+F=15, G+H+I=15, A+D+G=15, B+E+H=15, C+F+I=15,
WA B AR B AR
B i E5eHY - mEReT 0

A+E+I=15, CHE+G=15,

BRie L g e L
%&E\;i%gi,'ﬂé\éfal&ﬁ{

A g Ao 2

B Ec d VBRI ERpaeX 3o 4
MATLAB * - > Command Window p éir?] ~ magic(N) ¥ & & F B M Lephp 3§

, 22 3+

4 9 2
3 5 7
8 1 6
%%%@?uﬁﬁazg&%ﬁa\ﬁﬁ‘#’%UFWE Sl FEE
FHB B3y P TAAEA LA FHN 5 FEE et i o
STILE LR b R S Do e e
3 4 6 1 8 2 7 6
1 5 9 7 5 3 9 5 1
6 7 2 2 9 4 4 3 8
Ffad g Ry e By
1. [dE7? BRRBiE 1 20 |[PEF 2w kAEHE
3. fﬁﬁ&*ﬁ*’&Tﬁﬂ#E@ 4. |[BERE-REKZRApE

6. v R HBF

B Rt - ol




el

8 1> | ¥ 6% v
@ 5 (AP 4
4 9 2 >
Magic(5), & 5|fr=% fFfo=2 $ & S {r=65
17 24 | 8 15
23 5 7 14 16
4 6 13 20 22
10 12 19 21 3
11 18 25 2 9
MATLAB #% 5" f% /2
[J.I] = meshgrid(1:n);
A = mod(I+J-(n+3)/2,n); B = mod(I+2*J-2,n);
M=n*A+B+1;

2. BRERNS L
Nwgp 4 2 % Bk (4 mod(N, 4)==0 & =) 5 & i #(doubly even)= &

wUE
. d 2247 @mABE N 1-16> HE&MF 27 H o
2. d LTI 2 RBES1-160 TEHERF Lo
2 3 16 2 3 13
5 8 5 11 10 8
9 12 9 7 6 12
14 15 4 14 15 1

Magic(4) & 7|fr=% f7fe=% 4t & &fo=34

3. it AT S dcnidpty U Axd S E A GO ES B e AR
SEIETE

> | 3 5 1 7
g 12 13 T
17 L1 20 |21 | 7 24

2% | 27 30 | 31

| NI 38 | 39
11 78 18
19 52 | 53 56

58 | 59 62 | 63




641 2 | 3 |61 60| 6 | T | 57
9 [ 55| 54 | 12 ) 13| 51 | 50 | 16
17147 146 | 20 | 21 | 43 | 42 | 24
40 | 26 | 27 | 37 ) 36 | 30 | 31 | 33
32 | 34| 35|29 | 28 | 38 | 39 | 25
41 | 23 | 22 | 44 | 45 | 19 | 18 | 48

49 | 15 | 14 | 52 | 53 | 11 | 10 | 56
8 |98 |99 | 5 | 4 |62]|63]|1

Magic(8) , & Zlfr=% Ffo=% % & sfr= 260

MATLAB #2 5\ 2%

[J.I] = meshgrid(1:n);

K = fix(mod(1,4)/2) == fix(mod(J,4)/2);
M = reshape(1:n*n,n,n)";

M(K) = n*n+1 - M(K);

3. Hisscfgw L

N % o2 G ﬁxﬁ(i&;’ mod(N, 4)<>0 £ mode(N, 2)=0 = = p¥) » f 5 H % &
(single even) > * o

DI

L HRN/2 Bpo p AR pead g Lo

BN NeER#ES A L 4% AR pihd S i o2 G
ARGZpid > L BRAIAFRERZESLL 228 CHEA
Frf2Z B 222 E 0 DHEAFRERLZEST SXp 220 A

+ ¥
= .

F F
39
Do —

FENLE OBRENLET s CHRENLF D REN LT o
A N a4 C
D &« A p
1 6x6 H s S b
8 1 6 |26 |19 | 24
3 5 T 421 | 23] 25
4 19 2 )22 27|20

30 | 28 | 33 | 17 | 10 | 15
30 [ 32 | 34 )12 | 14 | 16
31 [ 36 |29 )13 | 18 | 11

HES B RIADA TR EREN - ZRF ORI HFEG 1T k(=
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% N=6, k=1:

30 | 1 6 |26 | 19| 24
3 |32 | 7 )21 | 23| 25
31 | 9 | 2 22| 27|20

8 | 28 | 33| 17 | 10| 15
30 | 5 |34 )12 | 14 | 16
4 136 | 2913 | 18 | 11

Magic(6) , % 7|4r=% f74r=2 % & s fr=111

FN=10p > H 21,27 250207 10x10 3 £ > § N=10, k=2, =I5 ¢

e ’]‘%"—ﬁ‘ Gl

17124 1 | 8 | 1567 ] 74|50 | 58 | 65
28 | 5 | 7T |14 |16 )73 | 55 | 57 | 64 [ 66
4 16 | 13|20 | 22 54|56 |63 |70 (12
10121921 | 3 J60] 62|69 |7l |93
11| 18|25 2 | 9 J61 |68 ]| 75|52 |89

92 | 99 | 76 | 83 | 90 | 42 | 49 | 26 | 33 | 40
98 | 80 | 82 | 89 | 91 | 48 | 30 | 32 | 39 | 4l
79 | 81 | 88 | 95 | 97 ) 29 | 31 | 38 | 45 | 4¥
80 | 87 | 94 | 96 | 78 | 35 | 37 | 44 | 46 | 28
86 | 93 | 100 | 77 | 84 § 36 | 43 | 50 | 27 | 34

FHFA HLRIBCA TS LREDTT A LRFUHNBI PRI L
(k- > % N=6 > k=1 >+ Rl& g 2= & N=10 pF > k=2 -
R L® T E o dod 2907 o AFERS 40T

92 199 | 1 | 8 | 15 67| 74 | 51 | 58 | 40
98 | 80 | 7 | 14 | 16 J 73 | 55 | 57 | 64 |4l
4 | 81 | 88| 20| 22]54| 56 | 63| 70 | 4T
80 | 87 | 19 21| 3 60| 62|69 |71 |28
86 | 93 | 25| 2 | 9 |61 | 68| 75| 52 | 34

17124 |76 | 83 | 90 § 42 | 49 | 26 | 33 | 69
23 | 5 |82 |89 | 9148 |30 | 32|39 | 66
796 | 13|95 | 97129 31|38 |45 |12
10 | 12|94 | 96 | 78 § 35 | 37 | 44 | 46 | 93
11 | 18 |100| 77 | 84 § 36 | 43 | 50 | 27 | 89

Magic(l()) , % FIH\?’:%, f—’rfr:%, ¥+ ﬁ.%ﬂ‘fr:505
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114
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43
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31
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20
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157

166
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79

88

97

50

59

185
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87

96

56

58

67

193

153

173

182
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95

90

57

66

75

152

161

181

183
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54

63

65
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83

160
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189
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151
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64

73

82

91

168

170
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150
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12

81

90

92

169

178

149

158
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71

80

89

98

51

-

10

19

28

128

137

146

99

108

18

27

29

136

145

105

107

116

17

26

39

37

144

104

106

115

124
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34

36

45

103

112

114

123

132

33

42

44

4

111

113

122

131

140

170

41

43

3

12

119

121

130

139

141

178

49

2

11

20

120

129

138

147

100

39
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157

166

175

79

88

97

50

59

47
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174
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87

96

56

58

67

6
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173

182

184

95

6p)

57

66

75

152

14
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25

181

183

192

54

63

65

74

83

13

15

24
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189
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151

62

64

73

82

91

21

23

32

188

190

150

159

70

12

81

90

92

22

31
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149

158
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71

80

89
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Magic(14), %

MATLAB 42 5% 2

(IR

4= & {7 o= & $ & B fo=1379

A
g

Bl 2

p=1/2;

if n == 2, break, end
k = (n-2)/4;
M([i; 1+p]3) = M([i+p; 1].));

1=(l:p)

1=k+1;

M = magic(p);
M = [M M+2#p"2; M+3*p"2 M+p"2];

i=[11};

7 =[1:k (n-k+2):n];

M([i; 1+p]) = M([i+p; 1])




